goboog

00 000000000Q={1,2 3, 4,5 600000

l.ggbbbodoooboboooobbboooobboooon

0={1, «Co=00 (000000000000

2.0000000000000000000000000000
{1}, {2}, {3}, {4}, {5}, {6} 1 =060
3.0000000000000000000000000000

{1, 2}, {1, 3}, {1, 4}, {1, 5}, {1, 6}, 0OOODO
{2, 3}, {2, 4}, {2, 5}, {2, 6}, OO0 OOO

{3, 4}, {3, 5}, {3, 6}, DODODODO

{4, 5}, {4, 6}, 0ODODODO

{5, 6} ¢Co =150

4. 000bOo0oboobobbooboooboobooboobo

{1, 2, 3}, {1, 2, 4}, {1, 2, 5}, {1, 2, 6}, 0OOOO
{1, 3, 4}, {1, 3, 5}, {1, 3, 6}, 00O OO

{1, 4, 5}, {1, 4, 6}, 00000
{1,5, 6}, 00000

{2, 3, 4}, {2, 3, 5}, {2, 3, 6}, 00O OO

{2, 4, 5}, {2, 4, 6}, 00000
{2,5, 6}, 00000

{3, 4,5}, {3, 4,6}, 00000

{3,5,6}, 00000

{4, 5, 6} ¢C5 =200



s. bbbuooobbbuoobobbbuooobbbboooon

{1, 2,3, 4}, {1, 2, 3,5}, {1, 2 3,6}, 00000
{1, 2, 4,5}, {1,2 4,6}, 00000

{1, 2,5 6}, 00000

{1, 3, 4,5}, {1,3, 4,6}, 00000

{1, 3,5 6}, 00000

{1, 4,5 6}, 00000

{2, 3, 4,5}, {2,3, 4,6}, 00000

{2, 3,5 6}, 00000

{2, 4,5 6}, 00000

{3, 4,5, 6} ¢Cy =150

6. Dgoooooobooobobboboobooboobon

{1, 2,3, 4, 5}, {1, 2, 3,4, 6}, {1,2, 3,5 6}, 0000
{1, 2, 4, 5, 6}, {1, 3, 4, 5, 6}, {2, 3, 4, 5, 6} C5 =60

r.0ogggbbobooogobobouooboobooooboon

Q={1,2 3,4, 5, 6} Co=10

. 0O QUUODO0O0DbOOoOoobOoOoooOoo

1+6+154+20+15+6+1=2°=2 =640



